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QUESTION 1

What is an objective of the Developing Project Team Process? 

A. Feelings of trust and improved cohesiveness 

B. Ground rules for interaction 

C. Enhanced resource availability 

D. Functional managers become more involved. 

Correct Answer: A 

 

QUESTION 2

What does a CPI value greater than 1.0 indicate? 

A. Cost right at the estimated value 

B. Cost under the estimated value 

C. Cost right at the actual value 

D. Cost over the estimated value 

Correct Answer: B 

 

 

QUESTION 3

While implementing an approved change, a critical defect was introduced. Removing the defect will delay the product
delivery. What is the MOST appropriate approach to managing this situation? 

A. Utilize the change control process. 

B. Crash the schedule to fix the defect. 

C. Leave the defect in and work around it. 

D. Fast-track the remaining development. 

Correct Answer: A 

 

 

QUESTION 4
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What is one of the MAJOR outputs of activity sequencing? 

A. Responsibility assignment matrix 

B. Work breakdown structure update 

C. Project network diagram 

D. Mandatory dependencies list 

Correct Answer: C 

 

QUESTION 5

Which type of network diagram allows you to depict four types of dependencies (finish-to- start, finish-to-finish, start-to-
start, and start-to-finish)? 

A. Precedence Diagramming Method (PDM) 

B. Gant Cnart Diagram (GCD) 

C. Dependency Diagramming Method (DDM) 

D. Arrow Diagramming Method (ADM) 

Correct Answer: A 

The precedence diagramming method (PDM) supports finish-to-start, finish-to-finish, start-to- start, and start-to-finish
dependencies. 

CA0-001 VCE Dumps CA0-001 Practice Test CA0-001 Study Guide

Powered by TCPDF (www.tcpdf.org)

CA0-001 VCE Dumps | CA0-001 Practice Test | CA0-001 Study Guide                                3 / 3

https://www.passapply.com/ca0-001.html
https://www.passapply.com/ca0-001.html
https://www.passapply.com/ca0-001.html
http://www.tcpdf.org
https://www.passapply.com/ca0-001.html
https://www.passapply.com/ca0-001.html
https://www.passapply.com/ca0-001.html

